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General Instructions : 9 4 _
(i) The question paper compnses of two Stciigns, A and B. You are to attempt both the secticns.
(n) All questions are compulsory. ¥ %

(iii) There 1s no overall choice

(iv) All questions of Section-A and all questons df’Sccf_jfgn-B are o be attempled separately. .

(v) Question numbers 1 1c 3 in Section-A are one n-ggd'*&w-ahom These are to be answered in one word or in one

sentence. { » |
(vi) Question numbers 4 10 7 in Sections-A are two Mwifks duestions. These are 1o be answered in about 30 words each.

(vit) Question numbers 8 to 19.in Section-A are three m.y&guestms Thesa are to ba answered in about S0 words
(e\f:ﬁ;‘ Question numbers 20 to 24 in Section-A ars five muﬁfllﬁ“‘”’" These are to be answered in about 70 words
g:‘):gueslion numbers 25 lo 42 in Section-B are SETLE ] rrﬁt&w‘m‘“ D‘m‘:dh:: wﬂ:‘-:;‘: :;';’I‘:;’Eﬁ‘:h S
one mark question. You are to sefect one most appropnate @SpRoge out of pro :
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I\'_ame the foUowmo;
E]‘:) Re}’m‘{' which has a four chambered heart
) Amphibuans of the plant kingdom
E:i)) Arumals with spuy skin
Division amon g pfmts which has the = :
! >, plants . stmplest organtsms.
(a) v wliym Rrvet sz o oefta
(b) e asf @ s¥aE
(c) F= St 7ae oict & anesifen arft

(cl)mmﬁmwmwaﬁg

. Endoskeleton of fishes arg’made up of cartilage and bone; Classify

the following fishes as cartifigegor bony.

(i)  Sting ray (12) odon (dog fish)

(i) Labeo roluta (Rohu) aulophyryne Jordam (Angler
fish)

qefad] &1 Ha. FHE IoTm A s W e e € AR 4w
woferdl &1 Iufomm am i gyl § witgs st

@ i@y (u =T m fem)

i) @fad dfgm (7 vy Trew T ))qwm WTEE )

6§ " uw wema § vw e w1 w am b :ngmm afz qn
A d % 4 w1 gA 10 cm B A w0 W af e ®ifag)

A stone is thrown m a pone. l?hﬂwphu:%-‘dmlm If

10 cm calculate the

" 8E

the distance between a crest and a trough
wavelength and veloaty of the wave.

1500 N WR ) G 7 500 Pa B T@ T §, Hoh SAwa wfwfen wifag

afz s ST S A A T T g0 T W TR IR S
An@ectmghnglﬁﬂ)hdﬂmtsamdﬁmh. ‘.
area of contact. Find the pressure exerted by the same object over twice

that area
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Element | Protons | Neuls h‘xr_:lj
A 9 9
B 16 o
C 12 - .
D 17 _
Answer the following questions :
B and element C

{a) Give the elecirotuc distnbution
by Write the valency of element A

{c) Wnlr.wmkmmhfo!ekumﬂ/(

Whrite the drawbacks of rutherford’s o-pr.(

muﬁitwmfwmnrmmvnMﬂ»;tOfnmmm

w1 1 sl a sedm Wi

Wmnﬁqﬂnﬁmm' ﬁ

() Mention the postulates Neils Bobe ot J7vescome the
lRuMad’oaw-\nld

objections raised agae
b) Write the electromc conbiguration of s i atom. (

V /Wnumdwmhcfumohmhdthibm'ﬂwd
W’-
()  Cryplogam
(1) Arthropoda
g‘;ﬁ?mﬁ’l‘ftdmw-ummm
) faerim
(i) st
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12 /" Identify the following crgamsms.
(1) Amphibians of the plant kingdom
(i)  Plants with udden reproductive organs.
(1)  Mutuaily benefifted relalionshup between two organisms.
(1) T W & T
@) 99 FrE wrEy v T A
(@) 7A@ F F T Gwan

A

\y State appropnate terms for the followmng :
(1) Amumals that are able io mamtain a certain body temperature
over a wi@€ range cf lemperature in the environment

(i)  Plants whacl bpar naked seeds

frafafaa ¥ =0 9= 1 (7= =aw) .
@ UF T * Fre v § g i ) wE A

(14)

Y @ EF W TR 1600 kg rQ

,n,n, o e q pim s
%7 nf,:m;nfrrq wn v o ] ¢ § w 9y |mnk8m"3.l

A block has a mass of 1600 kg and a v@d 4w Wil it sk or float m
water ? (If so how much portion @wnt« * ) Denuty of water

= 1000 kg ; ~ 3.
o

15 0% @l 60 kg 7 % n757 #) sved far o mm } T A8 60 kg FE WY
s ) arm A s qem by s o wifa

A man can support a 60 kg bale of cotton on lus head but he feels
uncomfortable in supporting a 60 kg steel rod. Explain why ?

Jo Wﬁnwaﬁ%{nﬁmﬁ!,squﬁmﬂﬁ&mﬂmawmw
3 gtr fom 41 4 39 39 T F s 70 7E w3 8 waEi zm
femmmarifFm s e e b

Two lorces are actng on a body, 5N west to east and 3N east to west, to

@-pm.tioammammumummwhmmﬁ
whuch direction ? '
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\/mﬂammmumﬁm%amwﬁWSmmﬁmtlw
T T qitTE FAl H o vl g Hi
A ball falls a height of 10m, strikes the ground and rises back to a height of
8m. Find out the % loss of mechanical energy.

2 (a)

(b)
(a)

(b)

T T e wpE W T cmefE
gu % fo w famn ety ww)
RP @M AAPF T A qAm e w1 A
i ) f2Y WA # faw o femi

@ @ wR @ e am 8
(b) @ il F v A v e e & W e am @
© el ot gvm A wae @ e w s e e

Manav is very fond of Durga Puja. On the day of immersion i the
nearby river he accompasued hus parents. When they reached at the
bank of river, he saw a large number of containers which read “Put

the idols here”. Many volunteers were guiding people to place their
iddsmtheconmnersMamvdidnotmsist.whmhesnwme
peoplefmﬁﬂymu\eidolsmﬁva.ﬂemmﬂ\u\e
vohmttmsmedtoeducatethemmdfomedt}wpeople to follow the
instructions. Now answer the followmng questions :-

(a) Whwh quality of Manav 1s depicted?

(b) What happens when idols are immersed in river water?

(c) Wﬁteonemggestumuutlwwmwmmﬁm&mn

the above adverse effect.
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(@) Tyt iferwi 1 wfrarfr Ffa 3 2 Tz fafa :

®) AR A @ e o % o fafa .
@ T
(W)  EEIEE A
(w)  afe e
(a) Define binary compounds ? Write two examples.
(b)  Give the names of the elements present in the following compomumnds -
()  Quick lime
()  Hydrogen bromide
(1)  Baking powder

\%) Which orgamism 1s more complex and evolved among (2.z)
bacteria, mushroonl, and mango bree. Give reasons.

(b) List out three common features in cat, rat, and bat

@@  dfr, ouen g4 AW F I3 0 Q[ | AE &vE T

am fasfea 2
) facEh, gm ad
A 7T
22/ (a) == Avarw AT 5
) w6 omd W o e b s wifw)
(© S = w wrww et
(d) =73 FAAEE A g A N © %8 v B
(@) Define denmty 7
(b) Denaty of a substance s one of s char | propertes, evplan
(c) State unut of denmty m 51 7
() How can we wdentify whether the B puw or not by

knowang, its densaty ?

23 ()  amer wafy atdl wi ferfon ) o
(i) qaAT it e w e fem g e e 8
(i) wwﬁ%mnmﬁnmﬁmwa
(1) Define ultrasonic waves.

(a) How can ultrasonic waves be put to use ? S ”

(1) How moths of certain families are able to escape

i e T S|
24, () T A FEITE B o ‘
(b) mmm.ﬁmyﬁm'ﬁmmm“wmma#aﬂ
£
: ' ;s
Draw a schemabc representation of carbon cycle’ m nabore
:;; Name four carbon contaming molecules on whuch afl ife forms &2
based.

Sagad ot 13
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25  qfy % uyads ¥ Fow # genfid w6 6 TEm 9 g A9 9wl =i,
Aferan 7 £ § < T F ATF TR EAE

(a) 31 T *fﬁa'mmgm (b) q{?f{‘ﬁm IO
(@)  am, foed qn oo fRUFY (d)  @rEd. 9w a4 wie
ferm g1

In an experimen t to verify the laws of reflection of sound, the quality
ofsoumd}wanlis(ydmumw}m the inner surfaces of the tubes are

7~
26 Asm""wwmmhmwa
a mosquito. &MH“AMNMR e &
worm 1s of : Pl
wF famd] meet ¥ e aF %) Sl saendl ® e W
@ fm fEm e wfe & o swea(ng'e

(a) VEI by v g T
ks

(d) ®IE=
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27 ufmst A, B, C gD A An b sl ¥ une fafeizy avfin e
FH1 TF B AT J@ F0 F o N aan InEE amag
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b 2 ?
- 2 [ »
:.‘_— \ns -] b 8
= L.
F 3 ]
. ! 9 -
2 ? e L 2
& A c . o
(a) A (b) B
{c) £ (d) D

Four measuring cvhnders with different least counts are shown mn
figures A, E. w D. The most suitable cvlinder for determining the

volume of a ¢ J)
::é e £ =
L @

9
b
Lo
o
& ¢ &
b 7 L »
= / po
i pe
L b 23 p 8
7 1 [
b (]
b
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4 3 : [§
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(c) - O D

28 el Ae @ ZOTA A T APA B IEE wm &

fa) é’!fﬂ (b}

() ATTA () # mwm

By mcreasing the mass of a body two times, its denmty becomes :
ia two times ()  reduces to half

i<} four hmes (d) remams the same
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(c) " (d) D
Bl Ly the correct po:nhou of waooden block when put mn water :

Elli

- wrﬁrm#fwmﬁw%ﬁthmﬁmﬁﬁﬁMﬂqmﬁ

C (d) D

w s e dra 2

() mm'{"t!qn"ﬂ'm

sy e fafefer § oW w ag o ufgn 2 fean

(rv) ?ﬂﬂwwnﬂﬁzhmA

= § W fm s 7 A wfen -

(a) W (1) (b ()

tc) W () i) w)

i‘ﬂnk doing the experiment on verilica prncple, Soes

carried procedure i the lollow :

@) »i';-f,ifﬂ”a.. level of salty water e cylinder withou! the
solid body.

the salty water.
(u) lmmwdﬂnaohdbodycumpbblym
:\mmmoamtymmmu-mmqw-ﬂh&

(a2}
- solid body.

) Noted the weight of the solid body in atr.
‘l;;;hpmﬁnmwhﬂubbm a different order 3
a)  Step @ by  Step (u)

Ly Step (ui) (d)  Step {iv)
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- 2 s tollowang tor measurmng the depth of imaersion of a solxd cubowl

e nght oethod =

' Keep the cubowd on the sand bed and wark the level of mumersaon
om the cubow! w thout touchng 1t and take the measure of depth
of mIneTsSIOon
Keep the cubomd on the sand bed and measure the level of
immer :on using the scale without removing the cubosd.
Keep the cubvoad on the sand bed and remove 1t Take the
raasure of mmersion from the imprints on the sand bed.
Keep the cubod on the sand bed and without removing 3t hold =
with one hend and mark the level of immersion on the cubosd

and take the measure of mnunersion.

T AR o e chibr kel cerckakicok wck Seci e

o= 7 1 77 ge frem @
m;%-ﬂ‘%_?nwgﬁﬁmﬂm'mum?&:&

#VTTIN Y /:znrmml
' (#wﬁw-wﬂmwhwﬁw

;...'——:n-.;-:_y_m
TG P T W WITTA AW RANF TN

. Veena measured wegh! of a u@r be WO\ and length and breadh ot

o face of the —shosd on = hach Laced on sand were 10cm and Som
- pectively. The correct ;Mo@ldhhﬂn

10000 Nm ~°

‘a) 90 N
) 900 Nm (c 10000 Nm'

a3 TF WTN W W 30N AT T w.mvwrmg,ut*s::t':
mar3 s R 5 10cm 37 dem b % g chate o TR

90 Nov (b) 10000 Nm ~ () 900 Nm ™’ () 10000 Nm

9y Z3¢M ':*?’q:r*rﬂr-?rmwwwmtmt:?ﬂ

!
) A ) Aj2 ) A4 d) p) Y
[ Lerrasae between fwo Canseculive couvmuu rarefachons when e
A wa .S frasel on a8
A b A/2 (X} AA 4H D
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S DN

\.22 J Z,
@ A : v TR
(¢y 7l w1 @mm &) FEaAFITMW
A wav![mluuwn&dmashnkvum&hw The type of wave
p“;* 13
Wy,
e d 4
O XY
(a) longitudmal ()  tansverse
(<) cou?hmnmotbom (d) none of these
35 ”Joroplaft p:wtnqﬂosgl

(a) c mtguh: in shape
() nbbon sh.np!d t
s § Tt FETeT W
(a) TAF A / )

(¢ faam ( qwT

36 Thtp-bmtdn&ht-h.—-- -

f A

o . chasosds
0 G e
(c) C..paubmm
wyifen 3 a5 T o b A8 ¢ ¥ T D
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38  The feature winch = nof n-‘hqm@s
(a) Jomed egs Scales
| Compound eyes. W-r
gmﬂm&hﬁéi tw
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W3 g R T 15 g dfm

VT ¥ afvfEm e b A 10 5 WR
TTIRDY e NegFrmw=m it wrsnmaomt.

AT
L 22

a T e w B

Ny = .
J T o= .-”’:

When 13 & of copper sulphate reacts with 15 g of sodium hydroxide, 10 g of
orper Fodrowade X g of sodoem sulphate was formed . The statement depicts the

Y Lawe of cones -

A 8 mﬁm@
<3 Law of conserva 4

‘d) ?a.‘?m:-nrmﬁlc

&1

T 3] 0 ™y {e) 1M v (d) 0T

42 4 smudent s observng the developmental stages m the life cycle of a
mosquato. He observes that the stage m whuch the orgamsm is very
atrve and requres a lot of food i
ja) ogg ™ larva (c) pupa (d)  adult
—F rrw TR ¥ TR WF ¥ e sed s e W
S rrtEwnywEiwRAaEFEmtwR
5 Swees W avs wa ¢ w -

wan & S T @ v

e
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